## BID TABULATION FORM Madison Street Extension, Phase II

				DRM IN	IC.	Simon Contractors		S&S Builders	
ITEM	ITEM	UNIT	QUANTITY	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.	DESCRIPTION		FOR BID	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
01020	Contract Pay Items								
01020.01	Mobilization	L.S.	1	\$11,770.00	\$11,770.00	\$16,500.00	\$16,500.00	\$11,500.00	\$11,500.00
01020.02	Contract Bonds	L.S.	1	\$1,595.00	\$1,595.00	\$850.00	\$850.00	\$1,020.00	\$1,020.00
01020.03	Force Account	L.S.	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
01500	Sediment & Erosion Control								
01500.11	Construction Stormwater Management	L.S.	1	\$231.00	\$231.00	\$600.00	\$600.00	\$1,530.00	\$1,530.00
01510	Traffic Control								
01510.01	Construction Signing And Traffic Control	L.S.	1	\$735.00	\$735.00	\$1,100.00	\$1,100.00	\$1,020.00	\$1,020.00
01510.03	Project Identification Sign	EA	1	\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$530.00	\$530.00
02075	molition of Asphalt and Portland Cemen	t Conc	rete						
02075.01	Removal Of Existing Asphalt Pavement	S.Y.	60	\$7.30	\$438.00	\$6.50	\$390.00	\$9.00	\$540.00
02075.04	Removal Of Sidewalk	S.F.	450	\$2.20	\$990.00	\$1.00	\$450.00	\$0.40	\$180.00
02075.06	Remove Curb & Gutter (Tangent)	L.F.	165	\$8.70	\$1,435.50	\$5.00	\$825.00	\$4.00	\$660.00
02210	Excavation and Embankment								
02210.01	Unclassified Excavation Above Subgrade	C.Y.	750	\$5.90	\$4,425.00	\$9.00	\$6,750.00	\$9.50	\$7,125.00
02210.02	Excavation Below Subgrade	C.Y.	100	\$17.80	\$1,780.00	\$56.00	\$5,600.00	\$18.00	\$1,800.00
02210.03	Rejected Material Disposal	C.Y.	100	\$8.75	\$875.00	\$13.00	\$1,300.00	\$7.55	\$755.00
02210.04	Surplus Material Disposal	C.Y.	700	\$6.45	\$4,515.00	\$13.00	\$9,100.00	\$7.55	\$5,285.00
2210.0712	12" Paved Road Subgrade Processing	S.Y.	1100	\$4.30	\$4,730.00	\$4.60	\$5,060.00	\$7.50	\$8,250.00
2210.0812	12" Subgrade Processing For Patch	S.Y.	30	\$7.15	\$214.50	\$21.00	\$630.00	\$40.50	\$1,215.00
02220	Trench Excavation								
02220.02	Underground Facility Locates	EA	2	\$339.00	\$678.00	\$650.00	\$1,300.00	\$655.00	\$1,310.00
02231	<b>Aggregate Sub-Base and Base Courses</b>								
	8" Aggregate Base	S.Y.	1100	\$17.90	\$19,690.00	\$18.75	\$20,625.00	\$12.75	\$14,025.00
02280	Topsoil								
02280.01	Place Topsoil	C.Y.	50	\$17.00	·		\$837.50	\$18.00	\$900.00
02280.03	Stockpile Topsoil	C.Y.	260	\$11.45	\$2,977.00	\$16.75	\$4,355.00	\$13.50	\$3,510.00
02512	Plant Mix Pavements								
	4.5" Asphaltic Concrete Paving	S.Y.	880	\$41.45	\$36,476.00	\$39.00	\$34,320.00	\$46.50	\$40,920.00
	6" Asphaltic Concrete Patch	S.Y.	30	\$80.65	\$2,419.50	\$76.00	\$2,280.00	\$90.40	\$2,712.00
	ncrete Curb Combined Curbs and Gutte								
02528.0130	Install New 30" Curb & Gutter	L.F.	420	\$26.00	\$10,920.00	\$26.50	\$11,130.00	\$22.30	\$9,366.00
02528.0224	Install Replacement 24" Curb & Gutter	L.F.	40	\$27.60	\$1,104.00	\$37.50	\$1,500.00	\$31.25	\$1,250.00
	Install Replacement 30" Curb & Gutter	L.F.	60	\$29.70	\$1,782.00	· ·	\$2,400.00	\$34.50	\$2,070.00
02530	Concrete Sidewalks, Driveway Appro	aches	, Curb Tur	n Fillets, V	alley Gutte	rs,Misc.			

CLIENT: City of Gillette PROJECT NO.17EN29

## BID TABULATION FORM Madison Street Extension, Phase II

PCA ENGINEERING
BID DATE: June 27, 2017

				Engineer's Est	imate	HIGH	LOW	AVE
ITEM	ITEM	UNIT	QUANTITY	UNIT	TOTAL	UNIT	UNIT	UNIT
NO.	DESCRIPTION		FOR BID	PRICE	PRICE	PRICE	PRICE	PRICE
01020	Contract Pay Items							
01020.01	Mobilization	L.S.	1	\$4,308.86	\$4,308.86	\$16,500.00	\$11,500.00	\$13,256.67
01020.02	Contract Bonds	L.S.	1	\$941.15	\$941.15	\$1,595.00	\$850.00	\$1,155.00
01020.03	Force Account	L.S.	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
01500	Sediment & Erosion Control							
01500.11	Construction Stormwater Management	L.S.	1	\$566.96	\$566.96	\$1,530.00	\$231.00	\$787.00
01510	Traffic Control							
01510.01	Construction Signing And Traffic Control	L.S.	1	\$1,700.87	\$1,700.87	\$1,100.00	\$735.00	\$951.67
01510.03	Project Identification Sign	EA	1	\$1,500.00	\$1,500.00	\$1,000.00	\$530.00	\$810.00
02075	molition of Asphalt and Portland Ceme	ent Cond	rete					
02075.01	Removal Of Existing Asphalt Pavement	S.Y.	60	\$3.80	\$228.00	\$9.00	\$6.50	\$7.60
02075.04	Removal Of Sidewalk	S.F.	450	\$1.50	\$675.00	\$2.20	\$0.40	\$1.20
02075.06	Remove Curb & Gutter (Tangent)	L.F.	165	\$4.75	\$783.75	\$8.70	\$4.00	\$5.90
02210	Excavation and Embankment							
02210.01	Unclassified Excavation Above Subgrade	C.Y.	750	\$8.50	\$6,375.00	\$9.50	\$5.90	\$8.13
02210.02	Excavation Below Subgrade	C.Y.	100	\$18.00	\$1,800.00	\$56.00	\$17.80	\$30.60
02210.03	Rejected Material Disposal	C.Y.	100	\$15.00	\$1,500.00	\$13.00	\$7.55	\$9.77
02210.04	Surplus Material Disposal	C.Y.	700	\$10.00	\$7,000.00	\$13.00	\$6.45	\$9.00
2210.0712	12" Paved Road Subgrade Processing	S.Y.	1100	\$4.00	\$4,400.00	\$7.50	\$4.30	\$5.47
2210.0812	12" Subgrade Processing For Patch	S.Y.	30	\$20.00	\$600.00	\$40.50	\$7.15	\$22.88
02220	Trench Excavation							
02220.02	Underground Facility Locates	EA	2	\$300.00	\$600.00	\$655.00	\$339.00	\$548.00
02231	Aggregate Sub-Base and Base Course	es						
02231.018	8" Aggregate Base	S.Y.	1100	\$17.50	\$19,250.00	\$18.75	\$12.75	\$16.47
02280	Topsoil							
02280.01	Place Topsoil	C.Y.	50	\$6.20	\$310.00	\$18.00	\$16.75	\$17.25
02280.03	Stockpile Topsoil	C.Y.	260	\$4.20	\$1,092.00	\$16.75	\$11.45	\$13.90
02512	Plant Mix Pavements							
02512.014.5	4.5" Asphaltic Concrete Paving	S.Y.	880	\$31.50	\$27,720.00	\$46.50	\$39.00	\$42.32
02512.026	6" Asphaltic Concrete Patch	S.Y.	30	\$75.00	\$2,250.00	\$90.40	\$76.00	\$82.35
02528	oncrete Curb Combined Curbs and Gut	ters						
02528.0130	Install New 30" Curb & Gutter	L.F.	420	\$22.50	\$9,450.00	\$26.50	\$22.30	\$24.93
02528.0224	Install Replacement 24" Curb & Gutter	L.F.	40	\$26.00	\$1,040.00	\$37.50	\$27.60	\$32.12
02528.0230	Install Replacement 30" Curb & Gutter	L.F.	60	\$26.00	\$1,560.00	\$40.00	\$29.70	\$34.73
02530	Concrete Sidewalks, Driveway App	roaches	, Curb Tu					

CLIENT: City of Gillette PROJECT NO.17EN29

## BID TABULATION FORM Madison Street Extension, Phase II

PCA ENGINEERING BID DATE: June 27, 2017

				DRM IN	1C.	Simon Cor	ntractors	S&S Builde	ers
ITEM	ITEM	UNIT	QUANTITY	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.	DESCRIPTION		FOR BID	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
02530.014	Install Concrete Sidewalk (4")	S.F.	2115	\$4.50	\$9,517.50	\$4.50	\$9,517.50	\$5.60	\$11,844.00
02530.046	Install Concrete Driveway (6")	S.F.	250	\$5.85	\$1,462.50	\$6.00	\$1,500.00	\$7.70	\$1,925.00
02530.068	Install New Concrete Valley Gutter (8")	S.F.	150	\$7.95	\$1,192.50	\$8.00	\$1,200.00	\$8.50	\$1,275.00
02530.088	Install New Curb Return Fillet (8")	S.F.	370	\$7.95	\$2,941.50	\$8.00	\$2,960.00	\$8.50	\$3,145.00
02530.124	Install Handicap Ramp (4")	S.F.	190	\$5.30	\$1,007.00	\$5.50	\$1,045.00	\$11.80	\$2,242.00
02725	orm Drains, Trickle Channels, and Culve	rts							
02725.39	Single Curb Inlet Curb Hood Replacement	EA	1	\$380.00	\$380.00	\$1,100.00	\$1,100.00	\$385.00	\$385.00
02805	Relocated Street Signs, Utility Poles, a	and Ma	ilboxes						
02805.01	Install Sign	EA	1	\$658.00	\$658.00	\$675.00	\$675.00	\$430.00	\$430.00
02805.02	Removal Of Sign	EA	2	\$120.00	\$240.00	\$130.00	\$260.00	\$100.00	\$200.00
02895	Engineering Fabric								
02895.02	Install Geogrid	S.Y.	200	\$4.60	\$920.00	\$8.00	\$1,600.00	\$3.10	\$620.00
02900	Landscaping								
02900.06	Hydroseeding	S.F.	3000	\$0.75	\$2,250.00	\$3.40	\$10,200.00	\$1.15	\$3,450.00
16000	Electrical								
16000.0124	24" Deep Trenching	L.F.	220	\$4.25	\$935.00	\$4.25	\$935.00	\$4.75	\$1,045.00
16000.021	Install 1" Electrical Pvc Conduit	L.F.	220	\$3.20	\$704.00	\$1.35	\$297.00	\$3.60	\$792.00
16000.17	Install Residential Luminaire	EA	1	\$1,274.00	\$1,274.00	\$2,450.00	\$2,450.00	\$1,430.00	\$1,430.00
16000.2210	Install No. 10 Awg, Conductor	L.F.	250	\$3.20	\$800.00	\$1.60	\$400.00	\$3.60	\$900.00
					\$150,912.50		\$177,942.00		\$162,156.00

CLIENT: City of Gillette PROJECT NO.17EN29

## BID TABULATION FORM Madison Street Extension, Phase II

PCA ENGINEERING
BID DATE: June 27, 2017

				Engineer's Es	timate	HIGH	LOW	AVE
ITEM	ITEM	UNIT	QUANTITY	UNIT	TOTAL	UNIT	UNIT	UNIT
NO.	DESCRIPTION		FOR BID	PRICE	PRICE	PRICE	PRICE	PRICE
02530.014	Install Concrete Sidewalk (4")	S.F.	2115	\$4.15	\$8,777.25	\$5.60	\$4.50	\$4.87
02530.046	Install Concrete Driveway (6")	S.F.	250	\$6.75	\$1,687.50	\$7.70	\$5.85	\$6.52
02530.068	Install New Concrete Valley Gutter (8")	S.F.	150	\$11.75	\$1,762.50	\$8.50	\$7.95	\$8.15
02530.088	Install New Curb Return Fillet (8")	S.F.	370	\$13.50	\$4,995.00	\$8.50	\$7.95	\$8.15
02530.124	Install Handicap Ramp (4")	S.F.	190	\$18.00	\$3,420.00	\$11.80	\$5.30	\$7.53
02725	orm Drains, Trickle Channels, and Culv	erts						
02725.39	Single Curb Inlet Curb Hood Replacement	EA	1	\$500.00	\$500.00	\$1,100.00	\$380.00	\$621.67
02805	Relocated Street Signs, Utility Poles	and Ma	ilboxes					
02805.01	Install Sign	EA	1	\$400.00	\$400.00	\$675.00	\$430.00	\$587.67
02805.02	Removal Of Sign	EA	2	\$150.00	\$300.00	\$130.00	\$100.00	\$116.67
02895	Engineering Fabric							
02895.02	Install Geogrid	S.Y.	200	\$3.25	\$650.00	\$8.00	\$3.10	\$5.23
02900	Landscaping							
02900.06	Hydroseeding	S.F.	3000	\$0.20	\$600.00	\$3.40	\$0.75	\$1.77
16000	Electrical							
16000.0124	24" Deep Trenching	L.F.	220	\$1.50	\$330.00	\$4.75	\$4.25	\$4.42
16000.021	Install 1" Electrical Pvc Conduit	L.F.	220	\$3.00	\$660.00	\$3.60	\$1.35	\$2.72
16000.17	Install Residential Luminaire	EA	1	\$850.00	\$850.00	\$2,450.00	\$1,274.00	\$1,718.00
16000.2210	Install No. 10 Awg, Conductor	L.F.	250	\$1.30	\$325.00	\$3.60	\$1.60	\$2.80
					\$135,908.82			